@ w Zéf @ Multiplicera decimaler med negativa krafter pa tio

namn: Datum: Poiing:
9972,4 x 0.001 = 7312, 8 x 0.0001 =
9211,5 % 0.001 = 8581, 6 x 0.0001 =
1052 % 0.0001 = 1114,8 x 0.0001 =
4891, 6 x 0.0001 = 9216,5 x 0.001 =
1832 x 0.001 = 5671, 1 x0.001 =
2673,9x0.1 = 9609, 1 x 0.001 =
6886,9 % 0.0001 = 7187,2 % 0.001 =
6686, 4 x 0.001 = 5046,7 x 0.1 =
3843, 8 x 0.0001 = 7263,4 x 0.01 =
8998,5x 0.1 = 5962,5 % 0.01 =

www.snowmath.com


https://www.snowmath.com

@ i@ § @ Multiplicera decimaler med negativa krafter pa tio

namn: Datum: Poiing:
9972,4 x 0.001 =9.9724 7312,8 x 0.0001 = 0.73128
9211,5%0.001 =9.2115 8581, 6 x 0.0001 = 0.85816
1052 x 0.0001 = 0.1052 1114, 8 x 0.0001 = 0.11148
4891, 6 x 0.0001 = 0.48916 9216, 5 x 0.001 =9.2165
1832 x 0.001 = 1.832 5671,1x0.001 = 5.6711
2673,9 x 0.1 =267.39 9609, 1 x 0.001 = 9.6091
6886, 9 x 0.0001 = 0.68869 7187,2 x 0.001 = 7.1872
6686, 4 x 0.001 = 6.6864 5046,7 x 0.1 = 504.67
3843,8 x 0.0001 = 0.38438 7263,4 % 0.01 =72.634
8998, 5 x 0.1 = 899.85 5962,5 % 0.01 = 59.625

www.snowmath.com


https://www.snowmath.com

